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Group Marks : 200
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Section Id : 212807735
Section Number : 1
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Sub-Section Id : 2128072106
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 386 Question Id : 21280728941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI
2r+1 dx x+2 4
y+3 2y=5| | 7 3
(1) x=md ye=d
() x=4, y=]
(3] x=1, y=4
4 x=3 =1
Options :

212807115761. 1
212807115762.2
212807115763. 3
212807115764. 4

Question Number : 386 Question Id : 21280728941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQI
2r+1 dx x+32 4] _ i
y4+3 2y—5|"| 7 | TNy I E

1y x=d y=2

(2y x=4 y=]

[F) =xTe=1, y=4

(4) x=3, y=1

Options :

212807115761. 1
212807115762.2
212807115763. 3
212807115764. 4

Question Number : 387 Question Id : 21280728942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
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If A isa square matrix of order 3 and |4

1
m 3
1
(2] 3
(3) 2
4y —2
Options :

212807115765. 1
212807115766. 2
212807115767. 3
212807115768. 4

2. then the value of |

A1

5 =

Question Number : 387 Question Id : 21280728942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

e ATE T e R T Ffz asm |Al=—2 W |-A"Y TEAE

1
m 3
1
(2] 7
(3 2
(4) -2
Options :

212807115765. 1
212807115766. 2
212807115767. 3
212807115768. 4

Question Number : 388 Question Id : 21280728943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

If the order of matrix A 15 4 =3, order of matrix B is 4 x5 and order of matrix C is 5% 3, then the

order of matrix (B-C1A' is
(1) 4x3

(2) 4x4
(3) 3x4
(4) S=3
Options :

212807115769. 1
212807115770.2
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212807115771. 3
212807115772. 4

Question Number : 388 Question Id : 21280728943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQI1

afe AR A FIFRE 43, W=gE B F Ffz4 x5 d0 95E C FFA5x3 § 7 9= (B-O)A F
Fifa &

(1) 4=3
(2)y 4=4
(3) 3 x4
(4) 5=x3
Options :

212807115769. 1
212807115770. 2
212807115771. 3
212807115772. 4

Question Number : 389 Question Id : 21280728944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
il S . :
If the matrix 5 is a singular matrix, then the value of xis :
i
(1) —o6
(4 0
(3) o6
(4) 2
Options :

212807115773. 1
212807115774.2
212807115775. 3
212807115776. 4

Question Number : 389 Question Id : 21280728944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ1
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(1) -6
(4) O
(3) &
(4) 2

Options :

212807115773. 1
212807115774.2
212807115775. 3
212807115776. 4

Question Number : 390 Question Id : 21280728945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQLl
-
8 G
[f yy=logx, then —5 is given by :
da®
I.
(1} 75
1
{4 T3
2
20
(3) . F
A
5
) S
X
Options :

212807115777. 1
212807115778.2
212807115779. 3
212807115780. 4

Question Number : 390 Question Id : 21280728945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI
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1
R

=
(2) -~

.
(3) 2
o -5
(4] 2
Options :

212807115777. 1
212807115778.2
212807115779. 3
212807115780. 4
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Question Number : 391 Question Id : 21280728946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

The :-.:Jupv of the normal ko the curve 1|.J= 16w at the point {1, 4) is -

r
(1) 3
t
& 5
(3) 1
4y -1

Options :

212807115781. 1
212807115782.2
212807115783. 3
212807115784. 4

Question Number : 391 Question Id : 21280728946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQI
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1
(5
1
)
(3 1
(4) -1
Options :

212807115781. 1
212807115782.2
212807115783. 3
212807115784. 4

Question Number : 392 Question Id : 21280728947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI
The function f{x}= |x—1| s strictly increasing in the interval.
(1y {0, 1)
() (=== 0)
() {—=,—1)
(B (L =)
Options :

212807115785. 1
212807115786. 2
212807115787. 3
212807115788. 4

Question Number : 392 Question Id : 21280728947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

T fix) = |v— 1| g Hawm § T e 2

(1) (0, 1)
(2) (—==.0)
(3 (==, =1)
(4 (1. =)
Options :

212807115785. 1
212807115786.2
212807115787. 3
212807115788. 4

Question Number : 393 Question Id : 21280728948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : culator : None
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

o : log ©*
The value of the integral I B v s
X
2 " o
(1) i{iug,y ¥ +C, where Cis a constant

1 -
|:3:| -;é-{]-[gx}l2 + (7, where C is a constant

(3 logx?+C, where C is a constant
(4] It:ﬁl.""+f, where C 15 a constant

Options :

212807115789. 1
212807115790. 2
212807115791. 3
212807115792. 4

Question Number : 393 Question Id : 21280728948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
log: e -
HATFA T i—d.r = |
o 1

(1) Z(logx)* +C, 6 C 0 oo &

i i A & s "
[2) ﬁling.\'r+{:rﬁ1§f£ﬂfﬁ el 7

(3)  logal+C, vl C U s/ &

E A [
(4) logr*+C, SECTH FHE
Options :
212807115789. 1
212807115790. 2
212807115791.3
212807115792. 4

Question Number : 394 Question Id : 21280728949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
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The area of the region bounded by y=|x=5[ x=0and x=1 18 ;

(1) 16
(2) 8
9
(3 3
25
Y
Options :

212807115793. 1
212807115794.2
212807115795. 3
212807115796. 4

Question Number : 394 Question Id : 21280728949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1

y=|x—35|, x=0 3 yr=1 ¥ was &3 F1 i=TF 2

(1) |
(2) 8
3 3

25
4 =
Options :

212807115793. 1
212807115794.2
212807115795. 3
212807115796. 4

Question Number : 395 Question Id : 21280728950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQLl
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Mlatch List - T with List - 1.

List - | List - I
o
(dy Y| [y
(A} 1+ oy ,l =, F () order=2, degree=2
d.q dl .-'d ".4
(B) d_j:l = "-"d_l_g +2 4_1_!: =y (I} order=3, degree=2
o : L dx )
2 [1 +d-'513— ':lj.’fw : ;
(C) dr) | @& 3 ) {III} order=2, degree=1
i d 21: dz
(D) [1 H = E;g (IV) order=3, degroe=1

Choose the correct answer from the 11].1I'_iur'|h' 1L_-;i'.ﬂ_'ﬂ bl
(1) (AT (BR{IV), (C){11), (D)-{I1)

(2)  (A)-(I). (B)-{III), {C)-(IV), (D)=(1)

(3)  (A)-(UD), (B}-(IL), {C)-(IV), (D)-(1)

(4) (A1) (BR(IV), (C)-(IL), (D)-(II)

Options :
212807115797. 1
212807115798. 2

212807115799. 3
212807115800. 4

Question Number : 395 Question Id : 21280728950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ1
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i1 | geEit-1l 1 foem =i

Py _d%y _(dy
_'._—']._.:_..+'2_I:_.-.
B dr?  dx? dx
o (1) -(£1]
|: } dx_,l I.i'l,:ll
oy Y i dl,l.l

1 =2 | ==L

(D) L ax ) Ay

(I #fE=3, Wm=2

(nn wifE=2, 9H=1

(IV) HIfE=3, TH=1

=1 feu o fasredl § & WE TET w1 =TI A

(1) (A1) (BRIV), (O{ID), (D)-(LI)
(2) (AL (B)-(10), {C)-(IV). (D)-(T)
(31 (AL, (B)-(lI). {(C)-(IV). (D0)-(L)
() (A)I), (B(IV), (C)-(II), {D)-(I0)

Options :

212807115797. 1
212807115798.2
212807115799. 3
212807115800. 4

Question Number : 396 Question Id : 21280728951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ1
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Match List - I with List - 11.
List - 1
Ditferential equation

Y= 5

1= =l e v

\.J'_T. A

dy 4 Iy _ cotx
P} ax " 142 1447

List - 11
Integrating Factor (1.F.)

Mm 2-1
(1) 1— %2
1

(m -
(V) 1+x2

Choose the correct answer from the options given below :
(1) (A)-{IID), (B)-(T), (CO)-(TV), (DY-(IT)
(2) (A1), (B)-{IV), (C)-(1), (D)-(II)
(3) (AL, (B}(I), (C)-(1). (D(IV)
(4) (AT, (BT). (C)-(IT), (D-(TV)

Options :

212807115801. 1
212807115802.2
212807115803. 3
212807115804. 4

Question Number : 396 Question Id : 21280728951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ1
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-1 | g e wi
-1 l-11

IEERE TR0 T 0T
dy ¥
—= —m Xy »
(A) T oz (. Xe==]
dy [ 2x “‘y_ 2
(B) dr [x%-1] {12_1]3 Y
dy x| 1 1
- o ‘.‘IE -
(L} dx II-I = TE _.-. i 1.2 (I} %
dy i Axy  cokx :
(D} dr 1142 1432 (V) 1+x2

= fam o faadl § | Wl 3= =5 =99 Fifan .
(1) (A1, (Bp-(1), {©)-(TV), {D-(11}
(2) (A1), (BHIV), (C)-), (D)
(3) (AN, (B, (C-, (DHIV)
(4) (A, (B)(1), (C-(11), (DHIV)

Options :

212807115801. 1
212807115802. 2
212807115803. 3
212807115804. 4

Question Number : 397 Question Id : 21280728952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

Cormer points of the feasible region tor a linear programming program are {0, 2), (3, 0), {4, 1}, (2. 3)
and (0, 3).

Let F=4x +by be the objective function.

The minimum value of F occurs at

(1) (0. 2) only

(2} {3 0) only

(3}  mid point of the line segment poining the points (0, 2) and (3, 0) only

(4) every point on the line segment joining the pomts (0, 2) and (3, 0)
Options :
212807115805 1
212807115806. 2
212807115807. 3

212807115808. 4 .
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Question Number : 397 Question Id : 21280728952 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

Tordll LPP % gem s o & fag (0, 2), (3, 0), (4, 1), (2,3) 790 (0, 3) €
qﬁ]"=4.1+{1_uﬁ3%ﬁ"qtﬁﬁ%|

M F =1 =g O &

(1) == (0, 2) T

(2) #HEE (3, 0) T

(3) (0, 2) 70 (3, 0) F foem = e F 0 g W

(4) (0. 2) and (3, 0) =t firee =t TEEE & o fHy W
Options :
212807115805. 1
212807115806. 2
212807115807. 3
212807115808. 4

Question Number : 398 Question Id : 21280728953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

For the objective function z=px+qy, where p, g > 0 the corner points of the feasible region
determined by the system of linear constramts are - (0, 10), (3. 3), (13, 13) and (0} 20), condition on
P and q so that maximum of 2 occurs at both the points (15, 15} and (0, 20) is -

(M p=q

(2} p=2q

(3) q=2p
(4) gq=3p
Options :

212807115809. 1
212807115810. 2
212807115811. 3
212807115812. 4

Question Number : 398 Question Id : 21280728953 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
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I G - P 4 q_ll,rrﬁﬂ"[‘p, q> ﬂ%ﬁﬁ?ﬁﬂi%#ﬁhﬁ—fﬂ 10}, (5, 3), (15, 153} 7490 (0, 20) E,
Farma Frafom figer =randl & Fem s 2@ 81 p TH g F 19 9% I 9@ & fag (15, 15) 79 (0, 20) W 2

wfaam @

(1} p=q

(2} p=2q
(3} g=2p
(4} g=3p
Options :

212807115809. 1
212807115810.2
212807115811.3
212807115812. 4

Question Number : 399 Question Id : 21280728954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQI

A random variable X has the ollowing probability distribution :

X 1

2

i
3

4

&

7

PX) | C

2

2C

L

7. g

7CNHC

Then the value of C 15 ¢

T8
b
@
o B
ST
(4 —1
Options :

212807115813.1
212807115814.2
212807115815.3
212807115816. 4

Question Number : 399 Question Id : 21280728954 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1
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W AT = X F Wi w

X 1 2 3 4 ] fr Fi
FX)| C iC | 2C iC el S ol e
A CHF IS
S T
1
-
5 3
(3) 10
(4) 1
Options :

212807115813.1
212807115814.2
212807115815. 3
212807115816. 4

Question Number : 400 Question Id : 21280728955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQI1

If the mean of Binomial distribution 15 5 and Varnance is 3 then the value of p (probability of
SUCCESS] 15 1

T
M 3
2
(2 3
G
l:":l 5
—_
(9 3
Options :

212807115817. 1
212807115818.2
212807115819. 3
212807115820. 4

Question Number : 400 Question Id : 21280728955 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQI
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Az foug 927 = W=g 5 3 W A B 99 p (TRE B 9EE) § E

iyt o
(1 3
2
7 -
@ =
i 3
["':I 5
4 4
(4 3
Options :

212807115817. 1
212807115818.2
212807115819. 3
212807115820. 4

Core Mathematics

Section Id : 212807736
Section Number : 2

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25

Section Marks : 125
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072107
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 401 Question Id : 21280728956 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

£ . | |" II.. r:"l'l F I.:I..\l.l .
Let flx) = x| and g{z) = [x], then the value of .-L'-'ﬂ!k 5 _|_ By |75 | is

(1) 1
(2) 1
(3) -9
(4) 9
Options :

212807115821. 1
212807115822.2
212807115823. 3
212807115824. 4

Question Number : 401 Question Id : 21280728956 Question Type : MCQ Option Shuffling : No Is Question Mandatory Qez&onélﬁlé d .
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

g 9
Ej gt?f[ i.a—nnﬂ%;

I|'|'_'|'||I'Il::l = |_l.! T grfx)= [x] = fog

(1) =1
(2)y 1
(3 9
(4] ¢
Options :

212807115821. 1
212807115822.2
212807115823. 3
212807115824. 4

Question Number : 402 Question Id : 21280728957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Let B be a relation on the set of integers Z such that R={{a, b), a= 2k, a, b, keZ], then R is
(1) Reflexive but not Symmetric and Transitive

(2) Symmetric and Retlexive but not Transitive

(3) Eguivalence relation

(4) Reflexive and Transifive but not Symmetric

Options :

212807115825. 1
212807115826. 2
212807115827. 3
212807115828. 4

Question Number : 402 Question Id : 21280728957 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

[

TMRIMH F O Z A T TR e T R=[(a, bl a=2%b, a, b, keZ) TR 3T :

(1) TEeed Wiy Heriwes o HHTEA &
(2) @A S T T T
(3) Hr Ha

(4) TG UH HwTm Ty @EO o

Options :
2128071158251
212807115826.2

212807115827. 3 collegedunias
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212807115828. 4

Question Number : 403 Question Id : 21280728958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ2

= TN | -1 4
The value of .‘:iml 2sm - —
5

(1)

(3)

(4)

Options :

212807115829. 1
212807115830. 2
212807115831. 3
212807115832. 4

16

25

-

L

15 given by

Question Number : 403 Question Id : 21280728958 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

'Value

Comprehension

MCQ2

feg Mg ﬁirll Jgin !

(3)

(4)

Options :

212807115829. 1
212807115830. 2
212807115831. 3
212807115832. 4

| e

| =T E

% collegedunias
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Question Number : 404 Question Id : 21280728959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

el 3 1 T :
If CO8 ~ IX+ 008 X 5 - then the value of x is :

1

(1) 3
1
(2 ~—3
51 B

1
WA
Options :
212807115833. 1
212807115834.2
212807115835.3
212807115836. 4

Question Number : 404 Question Id : 21280728959 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

afe cos™ f3x + cos” .1'-—-: Ty FUAT

1

(1) 3
1
(2 —3
3

3) 72

1
W TR
Options :
212807115833. 1
212807115834.2
212807115835.3
212807115836. 4

Question Number : 405 Question Id : 21280728960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 .
% collegedunias
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
1 @
If A=|1 " then the value of A¥ is :
25
1 5
(1. laa
1]
E
1 0]
(3) = 1
o 1
(%) 1 0
Options :

212807115837. 1
212807115838.2
212807115839. 3
212807115840. 4

Question Number : 405 Question Id : 21280728960 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
JEc:
qfg A =| 1 T A A R
% !
1 5
o
0 1
2 |1 s
1 0]
(3 |5 4
S |
b KR

Options :

212807115837. 1 collegedunias
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212807115838.2
212807115839. 3
212807115840. 4

Question Number : 406 Question Id : 21280728961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
(2 4 5)

If thematrix |4 2 3| 15 a symmetric matnx, then the value of K 15:
| .
K 3 2}
1y =2
(4 U
(3) 5
(4) 1
Options :

212807115841. 1
212807115842.2
212807115843. 3
212807115844. 4

Question Number : 406 Question Id : 21280728961 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
3 4 5)
afs smege |4 2 3| wE wwlaw e § 7 K A S
E & &)
(1) 5
(2) ©
(3) 5
(4) 1

Options :

212807115841. 1
212807115842.2
212807115843. 3
212807115844. 4

Question Number : 407 Question Id : 21280728962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

% collegedunias
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If x, y, z are all distinct and

(1) 2
(2y -1
(B, =4
(4) 2

Options :

212807115845. 1
212807115846.2
212807115847. 3
212807115848. 4

i

L]

e 1+ 1;'1' = (1, then the value of xyz is

=
e ]+-.t'1'
=z

2 “_,.’I

Question Number : 407 Question Id : 21280728962 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
2 3
X & Tty

}qﬁhv,:ﬁfmﬁﬁfﬂ' y

(1) — 2
(2) |
(3) -3
(4) 2

Options :

212807115845. 1
212807115846. 2
212807115847. 3
212807115848. 4

_:_.'2 ll;.r'-" = (), T yyz T HA T ;

il

<

3
14z

Question Number : 408 Question Id : 21280728963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ2

collegedunias
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By using the determinants the area of the triangle with vertices (0, 03, (0, 1) and (1, 0} is ;

(1} 1
(2} 2
5 A
3 3
&=
4
Options :

212807115849. 1
212807115850. 2
212807115851. 3
212807115852. 4

Question Number : 408 Question Id : 21280728963 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
ua T formes witd (0, 09, (0, 1) & (1, 0y €, owfrs fafe g w0 S &
5 1
(2} 2
1
% 2t
S
1
4) 5
Options :

212807115849. 1
212807115850. 2
212807115851. 3
212807115852. 4

Question Number : 409 Question Id : 21280728964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

If A is a skew-symmetric matrix of order n % n and a,; is the {1, A elements, then :

(1) a;=

i for all values of ¢ and §

ag

(2) a;=0 when =)

(3) @5 =0 for all values of i and |

(4) @;#0 when i=fonly

Options :
212807115853. 1 gcollegedunias

India’s largest Student Review Platform
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212807115854.2
212807115855. 3
212807115856. 4

Question Number : 409 Question Id : 21280728964 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

Az A T famm oafia 9=E # Ff2 nxn #@Ta, (i, )P = T TE

(1) :5|r.'=_l' i 3 j 3 T O & e

:1..,.,
[2] ('I'-i_ﬂmf_ll:
(3) dr_r#nfﬁjéﬁﬁiiﬁfﬁm.

(4) a;=0 78 Fad =]

Options :

212807115853. 1
212807115854. 2
212807115855. 3
212807115856. 4

Question Number : 410 Question Id : 21280728965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

la+b b+e c+a

The value of the determinant | « a b |is:
I 1 1

(1) 0

(2) 1

(3]

(4) 2

Options :

212807115857. 1
212807115858.2
212807115859. 3
212807115860. 4

Question Number : 410 Question Id : 21280728965 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

% collegedunias
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a+b b+c c+a

woE || e i b | 1 Hm ¥
1 1

(1) 0

(2 1

[ 3)

(4) 2

Options :

212807115857. 1
212807115858.2
212807115859. 3
212807115860. 4

Question Number : 411 Question Id : 21280728966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
tan| 'r| _
5 ;r i _-;L ) . ) T S
If fix) cot 2x 4 is continuous ab X E then the value of K is :
K , A —
4
8§ i
) i
5
(3] 7
4 =
4 7
Options :

212807115861. 1
212807115862. 2
212807115863. 3
212807115864. 4

Question Number : 411 Question Id : 21280728966 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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™ £}
| an| — .1'|
L4 ’ .+-_'- i ;
g W& flx)=4 cot2zx ' = 4 I-'IWTH?I'H%?IEFKEE['EF%:
K ; e
| i §
(1y 1
(2y 2
1
o)
i =
(4
Options :

212807115861. 1
212807115862. 2
212807115863. 3
212807115864. 4

Question Number : 412 Question Id : 21280728967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
-
[ e ,
; ———— X :
The function f(x)= r—1 s -
1 2 =1

(1) continnous at r=1 only
(2} discontinuous at x=1
(3) continuous at every real number

(4) discontinuous at every real number

Options :

212807115865. 1
212807115866. 2
212807115867. 3
212807115868. 4

Question Number : 412 Question Id : 21280728967 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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Az v flx)={ 1x-1
1 2 T

(1) &, Fadd 1=1W

(2) =Hdd, x=1

(3) T, 9o A g W

(4) 2799, S0 TrEfEs Hem W

Options :

212807115865. 1
212807115866. 2
212807115867. 3
212807115868. 4

Question Number : 413 Question Id : 21280728968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
i
= : i
If y=>5cosx—3siny, then —5 15 equal o :
X
(1) v
(2) ]
(3) 2y
(4] 2y

Options :

212807115869. 1
212807115870. 2
212807115871. 3
212807115872. 4

Question Number : 413 Question Id : 21280728968 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
q
— < ; I".I_-E-r -
2 jj=>3c0osx — dsing, T4 —h? 1§
[
(1) w
(2) Y
(3 2y
(4) 2y
Options :

212807115869. 1

collegedunias
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212807115870.2
212807115871. 3
212807115872. 4

Question Number : 414 Question Id : 21280728969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

For which values of a. flx) =alx +sinx) 1s an increasing function 7
(1) a=0

(2) e, =)

(3 aell, =)

(4) aeR (set of real numbers)

Options :

212807115873. 1
212807115874. 2
212807115875. 3
212807115876. 4

Question Number : 414 Question Id : 21280728969 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

flx)=alx +siny) TH O T R ah OH 2
(1) a=0D
[E:I ":"'-l:“-' =}
(3) ae[d, =)
(4) acR (EWATEH HENH F A=)
Options :
212807115873. 1
212807115874. 2

212807115875. 3
212807115876. 4

Question Number : 415 Question Id : 21280728970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The lunchon fix) =tany—x for xe [D, % | is

(1) increasing function

(2) decreasing function

(3) neither increasing nor decreasing function

(4) strictly decreasing function .
: @ collegedunia:
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Options :

212807115877. 1
212807115878. 2
212807115879. 3
212807115880. 4

Question Number : 415 Question Id : 21280728970 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

a E[ 0, % F U wE fy=tanv—x 8

(1) =99 T

(2) BEEHE WA
(3) N FHEE, T EEAE
(4 Te woaE e

Options :

212807115877. 1
212807115878. 2
212807115879. 3
212807115880. 4

Question Number : 416 Question Id : 21280728971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2

If the length of a simple pendulum is decreased by 3%, the percentage change in its period T is :

T

- L . .
[Note ; T= 3‘#\/: where L is the length of pendulum and g is constant]
8

(1) 1.5% decrease
(2) 1.B% decrease
(3) 2% increase
(4) 2.5% decrease

Options :

212807115881. 1
212807115882. 2
212807115883. 3
212807115884. 4

Question Number : 416 Question Id : 21280728971 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ2
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ofe UF TiE AEE Fi o ¥ 3 S S T @ 90E oug T ° e wim aeem 2

-
[F=Z |'=1w\{-" el L A Ae® %1 AEE & g TF s )
B

(1) 1.5% %9l

(4) 2.5% &HI

Options :

212807115881. 1
212807115882.2
212807115883. 3
212807115884. 4

Question Number : 417 Question Id : 21280728972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ2
™

The vakue of [ (sin|y] — cos|y) dx is:

2
1y
(2) 2
(3 0
4 S
Options :

212807115885. 1
212807115886. 2
212807115887. 3
212807115888. 4

Question Number : 417 Question Id : 21280728972 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

collegedunias
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(sin|x| - cos|x]) dx T A T

| -
iz )

(1) =1
(2) 2
(3 0
4y 1
Options :

212807115885. 1
212807115886. 2
212807115887. 3
212807115888. 4

Question Number : 418 Question Id : 21280728973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

cosy dr

].]I'i.-' '-.-":'Il.LLl.-Z' E!lf Jl:l | mn‘r}[z | 5]'11 1'} 15 5

1 o .
(1 log - : - 1+ where C is a constant
) (1+sinx)(2 +sinx)|
24+ cosx = ,
(2) log|— 2|+, where C is a constant
| + cosx
24dny 7 !
(3)  log : +C, where C is a constant
1+siny
| +sinxy| . —_
(4) log - C, where C is a constant
2+ 6Nk
Options :

212807115889. 1
212807115890. 2
212807115891. 3
212807115892. 4

Question Number : 418 Question Id : 21280728973 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

collegedunias
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cos ¥ dx
_{ ; : EI'Tl'l:l'l:l%':
(1+anx)(2+siny)

l | . "o
1y log e FC, SEIC Th ST #
o EJI|:t+:-1'1'11;1.'}12+£-Li1.1;}i

2+..~.' oo N
(2) ]115---'&1{?‘:"-’L +C el C T& 391 =
| + cosx
2+s5iny w 2 "
(3) loglt— "Ny, wEiC umw e E
1+sinx
1 +&sinx e :
(4) log i, i TE s
2+s5inx
Options :

212807115889. 1
212807115890. 2
212807115891. 3
212807115892. 4

Question Number : 419 Question Id : 21280728974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
2 2
Using integration the area enclosed by the ellipse I—_j +"I—_} =1 isequal tr:
a- b°
(1) srab
(2] wa'h
(3] Toabs
(4) wab?
Options :

212807115893. 1
212807115894.2
212807115895. 3
212807115896. 4

Question Number : 419 Question Id : 21280728974 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

collegedunias
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A

L ]
ﬂnﬂﬁl?ﬁfﬁlﬁaﬁﬁgﬂg+"_j=g zm 97 &3 = 89 T
a- b~

(1) =ab
(2) wa’h
[3) Trrab

(4)  wab?

Options :

212807115893. 1
212807115894.2
212807115895.3
212807115896. 4

Question Number : 420 Question Id : 21280728975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
e [l b a " L ]
The area of the region enclosed between y*=dx and =1 and ¥ =3 in the first quadrant is :

4
m 3i33-1)
(2) i{.'-'n."'.?'Hl}l
2
(3 33¥3-1)

0 (3A-1)

Options :

212807115897. 1
212807115898.2
212807115899. 3
212807115900. 4

Question Number : 420 Question Id : 21280728975 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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i =4y T v =1 3 ¢ =3 790 T | vfi"g 93 | 4954 ¢

m 3(3-1)
@ 3(35+1)
@ 2(5-1)

(4) %{%ﬁ -1)

Options :

212807115897. 1
212807115898.2
212807115899. 3
212807115900. 4

Question Number : 421 Question Id : 21280728976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The general solution of the differential aquation

3
(1) y=
3
X
(2) .'I'E

X -
e ey Cx , where C is a constant

9

i 3 T
(4) y= o +Cx~, where C is a constant

Options :

212807115901. 1
212807115902. 2
212807115903. 3
212807115904 4

+C , where C 15 a constant

+Cx , where € is a constant

-Ijill|'

_———=1 'I‘? '
X

dx

iy

7

Question Number : 421 Question Id : 21280728976 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ2

collegedunias
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(1) y=5+C, 58 Cum s #

(2) y=
(3 y=24Cr, W Cuw e

a or
(4) v ;IT+ Cx”, 58 C W S 1
Options :
212807115901. 1
212807115902. 2
212807115903. 3
212807115904. 4

Question Number : 422 Question Id : 21280728977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2
2 ;
: - __:|
’ : iz _ _ d-y | af dif . )
The order and degree of the differential equation 1 7| +x ,_1_| +y=snx respectively are :
L Lk / i, X
(1) 2.2
(2} 2,3
(3 2.1
(4) 1,2
Options :

212807115905. 1
212807115906. 2
212807115907. 3
212807115908. 4

Question Number : 422 Question Id : 21280728977 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
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"
b=

i f iy .

ST T % 2 WY 4y msing # Fif ol @
"|_"'I y LLX

(1) 2,2

Gy A3

(4 1,2

Options :

212807115905. 1
212807115906. 2
212807115907. 3
212807115908. 4

Question Number : 423 Question Id : 21280728978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

: None

Key Value

Comprehension MCQ2

— -?E -t

o 1 — — —F = .
If two vectors a and B are such that |aj=2,|bl=3 and 5. =4, then [a —2b is:

(1) 24
(2) 242

(3 246
(4) 40

Options :

212807115909. 1
212807115910. 2
212807115911. 3
212807115912. 4

Question Number : 423 Question Id : 21280728978 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

: None

Key Value

Comprehension MCQ2

; —4 = . # o ,; PR TRt ¥ —*
ﬁmqﬁﬁ a :-111]_-. EHARE 816 |alj=2,|b =3 HNT a-hbh :.I."-H a-2b %:
(1) 24

(2) 242

() 26

(4) 4l

Options :
212807115909. 1
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212807115910. 2
212807115911. 3
212807115912. 4

Question Number : 424 Question Id : 21280728979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
hWatch List - T with List - 11
List - 1 List - Il
A "| A A
(A} Hﬂh'l?“’. (I 1
) ! A
.y F AT F oS X h B
(B i-f+j-j+k-k M k-
SR S Y .-=."': .
(€) (x| i+]j+k] (i g
1 i)
PR S S ¢ 1
(D) ."| f+j4 k'! (VY 3
b s

Choose the correct answer from the options given below |

(1) (A=), (B)-(IV), (C)-(I), (D)-(1)
(2} (A, (BHIV), (C)-(I) (D)-(1)
(3 (A)II), (BHIV). (C)-(1), (D)-(I1}
(4)  (A)II), (B}-{TV), {O)-(D), (D)=(IIT)
Options :

212807115913. 1

212807115914.2

212807115915. 3
212807115916. 4

Question Number : 424 Question Id : 21280728979 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

-
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Tl B -1 o e i
et A1

(A) iﬂ1]+r”f; @ 1

(B) Geijeiwkek (M k-
R R S T

(C) IX|it+j+k [ o

(Dy i+ i+j+k| (v} 3

= fon T fasedt | | W ST = = it
(1) (AT} (B)-(IV), (C)-(IT). (D)-{T)

(2) (A}, (BpHIV), (C)-(I0), (D)-(T)

(3) (A1), (BIV), (O, (DR

(4) (AT}, (BI-(IV), (C)-(D), (TN-(IIL)

Options :

212807115913. 1

212807115914.2

212807115915. 3
212807115916. 4

Question Number : 425 Question Id : 21280728980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The intercept made by the plane 2y =3y+5z+4=0 on z-axis is :

o &
(B
(2)y -2
4
(3) 3
(4) 2
Options :

212807115917. 1
212807115918.2
212807115919. 3
212807115920. 4

Question Number : 425 Question Id : 21280728980 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
IKey Value W college nias
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|Comprehension |MCQ2

HAGA 2x— 3y + 2 +4 =0 gFT 2-AH T =i T A= oS

4
£
(2) 2
(3) -
3
(4) 2

Options :

212807115917. 1
212807115918. 2
212807115919. 3
212807115920. 4

Question Number : 426 Question Id : 21280728981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
s X & X—3 P8 F=0
[he lines 77 5~ 3 and 3 = p = g Are:

(1) coincident
(2) skew
()  Intersecting
(4) parallel
Options :
212807115921. 1
212807115922. 2

212807115923. 3
212807115924. 4

Question Number : 426 Question Id : 21280728981 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2
. X _V¥_Z r—3 y—4 z-5,
1._'ET I 1 3 ﬁ-‘r = 3 o E E::, o E g %'- H
(1) HHEIwH
(2) famm
(3) wfe=d
(4)  HHAH
Options :

212807115921. 1 .
collegedunias
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212807115922.2
212807115923. 3
212807115924. 4

Question Number : 427 Question Id : 21280728982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ2

In the adjoimng Hgure, the inequality representing AB is :

(1) 1dx +8y=h5
(2) x42ys9

(3) Bx+14ys65
(4) dx+b6y=29

Options :

2128071159251
212807115926.2
212807115927. 3
212807115928. 4

Question Number : 427 Question Id : 21280728982 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ2

f T T | v syt AB % fefia &t B

A

(2

.!;.,Dr.-
B

O
(1)  14x +8y=65

(2) x+2y=9Y
(3 Bx+14y=65
(4) dx+oy=s29

Options :

212807115925 1
212807115926.2
212807115927. 3
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212807115928. 4

Question Number : 428 Question Id : 21280728983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

The corner poinks of the feasible region determined by the Following system of linear megualities
21+ y=10, x+3y=15, 1, y=0 are (0, 0}, (5, Y, (3, 4) and {0, 5). Let z=px+qy where pand q = 0.
The condition on p and q so that the maximum of 2z ocours at both (3, 4) and (. 5) is :

(1) p=gq

(2} p=2g

(3} p=3q

(4) q=3p
Options :

212807115929. 1
212807115930. 2
212807115931. 3
212807115932. 4

Question Number : 428 Question Id : 21280728983 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ2

ferit geima 4= & = TEg (0,0), (5, 0, (3, 4) 720 (0, 5) 7 T YEtE =113 20 +y=10, 1 + 3y =15,
r,];;al'l':'f-? ﬁ'ﬂ?ﬂﬁﬁmﬁﬁﬁlrﬂﬂ Z=pX+ L]];?F-:-':fp'lﬁ & }ﬂ?-lhl}'lﬂ.a;u]ﬁ’_-‘ﬁ'?l?‘fl Iﬂﬁﬁﬂf{ﬁﬁﬁﬁﬁ (3, 4)
41 (0, 5) W z S=a 9

(1) p=q
(2) p=2q
(3 p=3q
(4) gq=3p
Options :

212807115929. 1
212807115930. 2
212807115931. 3
212807115932. 4

Question Number : 429 Question Id : 21280728984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

gcollegedunias
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Match List - T with List - I1. Given P{A) = : amnl P(B) = ; where A and B are independent.

List - 1

(A) P(A F‘.E}

(B) P{A'mTE)

(C} P{at least one of the two events takes place)

(D} Plonly one event takes place)

Choose the correct answer from the options given below :

(1) (AT, BRI, (O, (DH(IV)
(2) (A, (BR(IV), (C)-(1), (D)-{IT)
(3) (AR, (B)-(IID), (C-(IV), (D)-(1)
(4) ATV (B, (S0 (D)-(11)

Options :

212807115933. 1
212807115934. 2
212807115935. 3
212807115936. 4

List - IT

Question Number : 429 Question Id : 21280728984 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

gcollegeduniag
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| Tt asimpe=d

W1 W 11 %1 e i) fem # P{.&}:i T P(B) =

L

gt - | et - 11

7

[) F{r‘\ﬁﬂ} (1 -
= 2

(B) P(A'nB) M z
N s ma . - 1

(C) P (51 =217 7 9 %W | &0 T 0 e ) am 7z
(D) P (el T He T o ) (V) _1{.'1._;

ey e a1 frshedl # & HE SR B w4 e
(1) (A)-(D), (BI(L), (€)1, (D}(IV)
(2) (A, (BHIV), (C)-(1), (D)-{IN)
(3) (A, (B)-(110), {(C)-(IV), (D)-(T)
(4)  (ARIV), (B, (Cp-(0), (D)-(I)

Options :

212807115933. 1
212807115934. 2
212807115935. 3
212807115936. 4

Question Number : 430 Question Id : 21280728985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

2 3 1
If P{A)= F P(B)=— and PIArmB)= = - then P{A'/BY-P(B'/ A" is equal to :

10

2

3

o 5

(3 3

y B

T

27

)
Options :

212807115937. 1
212807115938.2
212807115939. 3
212807115940. 4

gcollegeduniag
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Question Number : 430 Question Id : 21280728985 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ2

- L 3 1 : -
afs P(A) =2, P(B) = it P(AnB) =2 7@ P(A!/B)-PB/A) % FET ¥

5
1 el
(1 <
>
5 —
|:":I }r
- 25
ST
27
4 1=
Options :

212807115937. 1
212807115938.2
212807115939. 3
212807115940. 4

Sub-Section Number : 2
Sub-Section Id : 2128072108
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 431 Question Id : 21280728986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

The function f: R = R, flx)=x"is:
(1} injechve but not surjechve
(2} surjective but not imectve
(3} injective as well as surjective
(4) neither injective nor surjective
Options :
212807115941. 1
212807115942, 2

212807115943. 3
212807115944. 4

Question Number : 431 Question Id : 21280728986 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

% collegedunias
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TR = R flx)=+"%:

(1) Wohek wifeF A=t =il

(2) ATESE TR TR AR
(3)  Uihdk A1 AT
(4) =N T, T AT

Options :

212807115941. 1
212807115942.2
212807115943. 3
212807115944. 4

Question Number : 432 Question Id : 21280728987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

If =23 cos{logy) + 4 sin{logx), then choose correct option :

(1) z%y' " =xy' +y=0
(2) 1'1_I,|"" I .'l'_l|l'l v 0
(3 .‘rl_l.r" +xy' +y=10
(4) %y —xy' —y=0

Options :

212807115945, 1

212807115946. 2

212807115947. 3
212807115948. 4

Question Number : 432 Question Id : 21280728987 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

7l y=3 cos(logy) +4 sinflogy), 7 TE Toey #

(1) aty" —=xy'+y=0
(2] .1E_|Jl"+.l.|1r'—_|_.'=ﬂ
(3) .1-'_|.|"+.'._I.r'-i-_|_.'={"
(4) x%y' ' =xy' =y=0

Options :

212807115945. 1

212807115946. 2

212807115947. 3
212807115948. 4

Question Number : 433 Question Id : 21280728988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

Compl

nia:
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The equation of the normal to the curve y=4x"+ 2 sinx at (0, 3} is
(1] x=3y=3
(2) x+2y=06

(3} 2x—y=-3
(4) dx+p=3
Options :

212807115949. 1
212807115950. 2
212807115951. 3
212807115952. 4

Question Number : 433 Question Id : 21280728988 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl

& y=4x" + 2 sinx F (0, 3) T AET= 1 HHEF §
(1) x=3y=3
(2) x+2y=4h
(3) Zx—y=-3
(4) Zx+y=3
Options :
212807115949. 1
212807115950. 2

212807115951. 3
212807115952. 4

Question Number : 434 Question Id : 21280728989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
’ . X+ z=—3 PRI,
[he angle between the line = % = —— and the plane 10x+2y—11z=3 i :
;o] B
[ |] s — |
21/
2 gin [k
L) B
" vy 2L
=i —
C |
(3] B
co—1 B
i gin | — |
1) 21
Options :

212807115953. 1

212807115954. 2 .
collegedunias
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212807115955. 3
212807115956. 4

Question Number : 434 Question Id : 21280728989 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

¥ 41 Iy 7 =3

Ex || : =';=THiﬂ'ﬂﬂﬁﬁlm'+2u—ll:=3ﬁﬁfﬁﬁmﬂm§:
... 8
(1) sin El
o 21
(2y  sin H—=
8
=g I
[:ﬁ] SETT F.‘
- sin_ | Rl
S el 7
Options :

212807115953. 1
212807115954.2
212807115955. 3
212807115956. 4

Question Number : 435 Question Id : 21280728990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

The area of a triangle having the points A(lL, 1, 1), B(L, 2, 3) and C(2, 3, 1) as its vertices is :
(1 J21
(2) 2421

I

3y =21
@

1
(4) 2l

.
Options :
212807115957. 1
212807115958.2
212807115959. 3
212807115960. 4

Question Number : 435 Question Id : 21280728990 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

% collegedunias
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Key Value
Comprehension Compl

s & dwe @ afg o g AQL, 1, 1), B(L 2.3) SR 3, g

(1) 421

(3) 1~.sz

(4] =21

Options :

212807115957. 1
212807115958.2
212807115959. 3
212807115960. 4

Applied Mathematics
Section Id : 212807737
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 35
Number of Questions to be attempted : 25
Section Marks : 125
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2128072109
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 436 Question Id : 21280728991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The value of 5! mod 5 is
(1)
(2)
(3 1
(4]
Options :
212807115961 1
212807115962. 2

212807115963. 3
212807115964. 4

LS L ) |

kP

Question Number : 436 Question Id : 21280728991 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

% collegedunias
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Key Value
Comprehension MCQ3

G0 (MMIIF5) T A E

(1) =
2 2
(3
(4) 3
Options :

212807115961. 1
212807115962. 2
212807115963. 3
212807115964. 4

Question Number : 437 Question Id : 21280728992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Riva and Priva complete a 200 metres race in 1 minute 12 seconds and 1 minute 36 seconds
respectively. By how many metres will Riva defeat Priva ?

(1) 25 metres

(2) 50 metres
[3) 35»‘.3 metres

(4) 5% metres

Options :

212807115965. 1
212807115966. 2
212807115967. 3
212807115968. 4

Question Number : 437 Question Id : 21280728992 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

T =0 firmn 200 dier =7 3 wow: 1 e 12 39 o 1 e o g9 o il == ) T e fen
=1 foraa O | wa T Y

(1) 25 9=
(2) 50 Hie
(3) 23w
(4 594 R
Options :

212807115965. 1
212807115966. 2 .
212807115967. 3 collegedunlas
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212807115968. 4

Question Number : 438 Question Id : 21280728993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The set of values of “x" for which 37 = (3x +3) 2 9x = 8(x = 3) holds true is
() (=== 2

(2) [2 =

(3 (—==2)

(& (2 =)

Options :

212807115969. 1
212807115970.2
212807115971. 3
212807115972. 4

Question Number : 438 Question Id : 21280728993 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3

v F O gy e e a7 — (3x £ 5) =90 — B{x—3) Tewle 26 R
(1} (—=,2

(2 [2 =)

(3} (—-=,2

(4) (2 =)

Options :
212807115969.
212807115970.

1
2
212807115971. 3
212807115972. 4

Question Number : 439 Question Id : 21280728994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The ratio i which a shopkeeper mixes two goods "A” and "B is 30 2. 1 the price of good "A" 18 T 20
and that of good "B’ is ¥15. Then the price of mixed goods is (¥) :

(1y 19
(2y 18
(3) 16
(4) 17

Options :
212807115973. 1

212807115974. 2 collegedunias

India’s largest Student Review Platform




212807115975. 3
212807115976. 4

Question Number : 439 Question Id : 21280728994 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

UF SRR 7 21 FEE AT @R Fa: 2 aee | g s B 9l a A sogem e 20 #ie a9 R
w1 U ¥ 15 ¥ 1 Tofum T e )

(1) 19
(2) 18
(3) 16
(4) 17

Options :

212807115973. 1
212807115974.2
212807115975. 3
212807115976. 4

Question Number : 440 Question Id : 21280728995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

There are three business partners A, B and C such that capital investment of A is ¥ 20,000 more
than twice the investment of B and C invests T 60,000 less than A, If they jointy invest T 4,80,000,
their capital ratio 1s

(1) 4:1:2

(2y 15:9
(3 11:
(4) 27:
Options :
212807115977.
212807115978,

212807115979.
212807115980.

2 tn

5 i
4 . |
1:16

B W N o~

Question Number : 440 Question Id : 21280728995 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3
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A1 TWEEE A, B @7 C g0 =599 | v 1 vEn # 15 A gm FEw w5t ds B sm fEm et = g
H 0000 AR T AW C B0 A T F 60000 FW O | AW & o R 9 = wen oo ?
480,000 1 Fem fen ot = Togw =it of =1 @9um

(1) 4:1:2
2y 13:9:11
(3) 11:5:8
(4y 27:21:16
Options :

212807115977. 1
212807115978.2
212807115979. 3
212807115980. 4

Question Number : 441 Question Id : 21280728996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

The speed of a boat in skll water i 10 km/h, If its speed downstream is 18 km/h, the distance
travelled by the boat upstream in 5 hours is

(1) 8 km
(2 10 km
(3) 20 km
(4) 16 km
Options :

212807115981. 1
212807115982.2
212807115983. 3
212807115984. 4

Question Number : 441 Question Id : 21280728996 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

g o ¥ A1 it e 10 Fredtd, %) afe s | e 18 Tt d, S48 9 g v F 5 @ A ol
£

(1) &

(2) 10 fwdt

(3 20 fmt

(4y 16 f&H=E
Options :

212807115981. 1
212807115982.2
212807115983. 3

212807115984 4 gco”egeduniaé
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Question Number : 442 Question Id : 21280728997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3
100 0 0 2] 101 0 0

If matrix A=(0 1 0[,B=[0 2 0|,C=(0 0 1|.D=|0 Ui then which of the following is
¢ 11 2 0 0| 110 0 0

true 7

(1) A 15 an identity malrix

(2) B is a scalar matrix

(3) C isasymmetric matrix

(4) I is a skew-symmetric matrix

Options :

212807115985. 1
212807115986. 2
212807115987. 3
212807115988. 4

Question Number : 442 Question Id : 21280728997 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3
1 0 0 0 0 2] 10 1] 00

Az ameE A=(0 1 O B=|0 2 0.,C=0 0 1|.D=|0 0| mFeadds-waas?
01 1 2 0 0] 11 0 00

(1) A T THTE A=E §
(2) B fen s #
(3) 7= goufgd =98 2
(4) DU ey guie o= &

Options :

212807115985. 1
212807115986. 2
212807115987. 3
212807115988. 4

Question Number : 443 Question Id : 21280728998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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If A=
7
—24
(1) a1
3
3 T
- 24
(3) - 98
(=24
4 |_3
Options : -

212807115989. 1
212807115990. 2
212807115991. 3
212807115992. 4

=

5|

. then the matrisx C for which 34 4 5B + 20 is a null matrix i -

Question Number : 443 Question Id : 21280728998 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
1 57 1 g ) :
Tz A = b T T B=| g| ™ a=E C, fams fom 3A 4+ 5B+ 2C v s B, &
—24
(1) a1
3 10
-24 =10
(3)  |_28 -3a
(=29 15
(4] = 3H - 3';.’_
Options :

212807115989. 1
212807115990. 2
212807115991. 3
212807115992. 4

Question Number : 444 Question Id : 21280728999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

-

-
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Question Key Details :

Key

'Value

Comprehension

MCQ3

Three shopkeepers A, B, C go to store to buy skationary., A purchases 10 dozen pens, & dozen
pencils. B purchases 10 dozen notebooks, 5 dozen pens and 7 dozen pencils. © purchases 11
dozen notebooks and 13 dozen pens, A notebook costs 40 paise, a pen costs 1.25 rupees and pencil

costs 35 paise, Identify correct statements

(A} It P is quantity matrix {stationary purchased by A, B, C} then order of Pis 22 3
(BY If Q) is a price matrix then order of matrix (Qis (3 % 1), to pet individual hills

¢ 10 6
(€) Pis |10 & 7
1 13 0

(D) Qis [040 125 (.35]

f 0 120 72)
(E) Matrix Fis (120 560 84 |
132 156 0O J.l

Choose Hwe corvect answer from the HFFﬁU.l'L‘i- g':w-rn Bl -

(1) (A) (D) Only
(2} (B), (D Only
(3) (C). (A) Only
(4) (B), (E) Only

Options :

212807115993. 1
212807115994. 2
212807115995. 3
212807115996. 4

Question Number : 444 Question Id : 21280728999 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ3
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A SFERE A, B, C =901 Wi 956 TR A T 10599 19, 6 5941 9159 | B 3 10 599 TGS, 5599
T ¥R 7 7t 9 F CH 11 Foi A9128F 301 13 3949 99 Siie | T T4 3 909 40 T3, T 15 F1 97

125 wd i We =1 gem 345 T &) wet wee =
(A} fe purn smegE # (R2yFEl =0E 9 AL B, C W) 76 P Rz 2xa

(B @fz Q UF F9a =98 ¥ 94 Q A= 1 w2 (3 1) & (=i faw & g s i fam)

0 10 &
(Cy B |10 5 7|%
11 13 0

(D) Q [040 125 035] #

0 120 72
() TP#™e|120 60 B4|%
(132 156 0

e feu m fawed § 9wl e o 99wt

(1) = (A), (D)
(2) 49 (B), (D)
(3) A (C), (A)
(4) == (B), (E)

Options :

212807115993. 1
212807115994.2
212807115995. 3
212807115996. 4

Question Number : 445 Question Id : 21280729000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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Match List - I with List - 1L
List - 1

(A) If flx)=logllog x), then P(x)

(By If glx)= EI:. then g'{x) =
2 1

(C) It hI:.T]=—I. then h'(x)=

v o

(D) It m{x)=log,x, then m'[x)=

(0

(1)

(TH)

(IV)

List - 11

xlog2

xlogx

-
Ed

X '11’

m

M

Choose the correct answer from the options given below
(1)  (A)-(D), (B)-{IV), (O)-(II), (D}-{II)
(2) (A (B)-IID, (O)-(IV). (D)-{T)
(3y (A=), (B, (C)-(IV). (D)-{1)
(4) (AL, (BRI, (Cr(IV), (D)

Options :

212807115997. 1
212807115998. 2
212807115999. 3
212807116000. 4

Question Number : 445 Question Id : 21280729000 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3
Tl H g1 1 foem =i

-1

(A) TR fAx) =logllog x), T fix) =

2
(B) 3 glzj=e" MW=
(C) 4fg h{x]=32;, T h'{x)=

(D} AME mix) =log.x, T m'{x)=

m % log2

(11

(O} e -2x

(V) —x—72

A= fon mo foeredi O & w0 == = 99 Sifan .
(1) (AL (BHIV), (O, (DRI
(2) (A)-(II). (B)-(ILI), {C)-(IV). (D)-(T)
(3)  (A)(I), (BII), (O)-(TV), (D)-(1)
(4)  (A)-(I). (B)-(II), (C(IV), (D))

g collegedunias
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Options :

212807115997. 1
212807115998. 2
212807115999. 3
212807116000. 4

Question Number : 446 Question Id : 21280729001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ3

'I

T
The demand for a certain product is represented by the function p=204+2x = — where 1 is the

number of units demanded and p is the price per anit, then the value of marginal revenue when 10
units are sold is

(1) 100
(2) 150
(3) 50
(4) 250

Options :

212807116001. 1
212807116002. 2
212807116003. 3
212807116004. 4

Question Number : 446 Question Id : 21280729001 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

__l

Fersit ferore weam 1 w1 =1 p=20+ 2x ﬁ wer g frefan o s &, =78+ win =t e g e p

i THIE = ThINd £ T Hidia A w1 UE A9 #1949 10 TRE A= wE w6 o

(1y 100
(2)y 150
(3) 50
(4) 250
Options :

212807116001. 1
212807116002. 2
212807116003. 3
212807116004. 4

Question Number : 447 Question Id : 21280729002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3 .
nias
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iy [ 9 .1'1
| o 5 + 1+ 1 then the value rJF_.f"[ﬂ] is

; X
If _.I"{.T_}l ﬁ ?
1y 0O

() 1

(3) 100

(4) 101

Options :

212807116005. 1
212807116006. 2
212807116007. 3
212807116008. 4

Question Number : 447 Question Id : 21280729002 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
" 10 B 2 :
e flx)le—t Tttt + 1 TA O T HAL
A e 5 f0)
1y 0
(2y 1
(3) 100
(4 101
Options :

212807116005. 1
212807116006. 2
212807116007. 3
212807116008. 4

Question Number : 448 Question Id : 21280729003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

MMaximum and minimum value, if any of fir)=K ; 2], 2] where K is a constant is :
(1) Maximum value=K and minimum value =K

(2} Maximum value=2 and minimum value =

(3) Maximum and minimum value does not exist

(4) Maximum value=1 and minimum value =

Options :

212807116009. 1
212807116010. 2
212807116011. 3
212807116012. 4

Question Number : 448 Question Id : 21280729003 Question Type : MCQ Option Shuffling : No Is Question Mandatory : NoayCalculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 .
collegedunias
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

e fix) =K ; xe[0, 2], FET K TF 370 &, =1 safermm w8 =m0 E

(4)

Options :

HAHFHTH WA= K T8 704 A=K
HAiuFag O =2 TE Fag 9=
Hfvwan vd =gy OF s § w1
SAfFHan W =1 76 =79 T =

212807116009. 1
212807116010. 2
212807116011. 3
212807116012. 4

Question Number : 449 Question Id : 21280729004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension MCQ3

Difterential coetficient of log,,x with respect to log 10 is ;

(1)

(5]

(4)

Options :

= {1 log,x)*

(logipx IlE

5
=

1

!
(log,, 10)°

2
I

2
(logipx)

212807116013. 1
212807116014. 2
212807116015. 3
212807116016. 4

Question Number : 449 Question Id : 21280729004 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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logypx T log, 10 F WS Haa [0+ &

(1) = (x logyp)*

1=

1

: 2
_(logpx)
]

(3 (log, 101

.1.2

(4]

Options :

212807116013. 1
212807116014 2
212807116015. 3
212807116016. 4

EE— 5
(logip 1)

Question Number : 450 Question Id : 21280729005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
1 ) 1 - a 1 25 ]
If the mean and variance of a binomial distribution are 3 and b respectively. Then value of

P(X=2} is:
[I} 5(;-*[-1"-
"\ 6/
5 f5Y
(2 "Gz

(4) a0

Options :

212807116017. 1
212807116018. 2
212807116019. 3
212807116020. 4

Question Number : 450 Question Id : 21280729005 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Inia:
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Tz fguz 529 F1 WA TS THW H0:

5 { 1.3
(1) “Ca|g)
5 |"5 “|_3
() & |L 2 ]
i '.2
5 2
i el
(3) 1|k_ =
2
iy 1
Ca <
) 216
Options :

212807116017. 1
212807116018. 2
212807116019. 3
212807116020. 4

g | =

=20 N ¥

o | W

w3

i

o

AAPX=FOAE

Question Number : 451 Question Id : 21280729006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

hatch List - I with List - I1. The probability distribution of number of sixes (X) is when an unbiased
die is thrown bwice is :

X l

1

2

F(X) |25/36

3/18

1/36

List - 1

(A} The value of E(X)

(B WValue of Var(X)

(C) Value of Var ﬁ/ﬂ

(D) Value of E{%IJ

Choose the correct answer from the options given below :

(1} (AL, (B}, (C)-{I), (DHIV )

)
(1)

(1T}

{1V}

(2)  (A)-(I), (B)-(1), (C)-IV), (D)-(11)
(3)  (ARIV), (B)LD), (C)-(1), (D)-(1)
(4) (A, (BHIV), (-0, (DH)

Options :
212807116021. 1

List - II
%

78

gcollegeduniag
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212807116022. 2
212807116023. 3
212807116024. 4

Question Number : 451 Question Id : 21280729006 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

i1 § geEit-11 F1 foem ifan | 9@ % 79 &1 2 90 S 9 6 2 9 5 (X)) 90 S wid

X | 0 1 2
P(X) |25/36] 5/18 | 1/36

-1 THI-1l

(&) E(X) %1 °H () %
(B)  Var(X) 1 5 Mm%
(C) Var (%) =1 7R ([ 4
(D) E|§J-c;]‘-=mfn-‘: (V) s

== feu o fased § & 6 39T F 999 Sifan
(1) (A, (B)-(1), (C)-(1), (D}(IV

(2) (AT (B)-(1). (CHIV), (D)-(II)

(3)  (A)IV). (B)-(11). (C)-(I), (D))

(4) (A, (B)-(IV), (C)-(1), (Dy-(1)

Options :

212807116021. 1

212807116022. 2

212807116023. 3
212807116024. 4

Question Number : 452 Question Id : 21280729007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

gcollegedunias
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A coin 18 biased so that the head is 3 Bmes likely to occur as il If the com is tossed twice, then the

probability distribution of number of tails is :

(1)

()

(4)

Options :

X [ 1 2
Plx) | 2/16]| 6/16|1/16
x 1] 1 2
Plx) | 9/16]| 1/16 | 6/16
x 1] 1 2
Plx) |1/16 | 6/16 | 9/16
X ] 1 2
Pix) |1/16| 9/16 | 6/16

212807116025. 1
212807116026. 2
212807116027. 3
212807116028. 4

Question Number : 452 Question Id : 21280729007 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

w2 foen § Faa am =t dueEan vz 3 T #oafe o @ 9 9 Semn o w2« 91 F=i

PlEET R rs i
AEJERE
(1) Pix) |9/16 | 6/16 | 1/16
v 0 1 2
2 TPx) [9/16 [1/16 | 6/16
x |0 ]1]2
[P [1/16 6716 [9/16
x| O 1] 2
4 ) [1/16 [9/16 | 6/16
Options :

212807116025. 1
212807116026. 2
212807116027. 3
212807116028. 4

Question Number : 453 Question Id : 21280729008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

|Key

'Value

.
nias
Mo =
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|Comprehension |MCQ3 |

Consider the following statements with reference to probability and non probability sampling and
select the correct statements :
(A} In purpesive sampling the members are selected which are most convenient tor researches

(B) Cluster sampling divides the population into subgroups and each subgroup has similar
characteristics

(€C)  In voluntary response sampling people are themselves ready to conduct the survey
(D} Selechion of a cricket team for world cup is an example of judgement sampling
(E) Stratified sampling is a sampling in which every member of population is assigned a number
and those numbers are chosen at regular intervals
Choose the correct answer from the options given below :
(1} {B), (D) and (T} Only
(2)  (A), (B) and {C) Only
(3)  (A), (C) and (I¥) Only
(4) ([ and (E) Only
Options :
212807116029. 1
212807116030. 2

212807116031. 3
212807116032. 4

Question Number : 453 Question Id : 21280729008 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Hiaal AR AW g & de9u 8 e el w faen w5 i o9 e o w61

(A) THEaqo AiTeEm § S S o T o o S S S A ST

(B) =2 Widad= WA %) I0EHE | 920 § A1 U0F 39EHE 1 B9 T 2w F )

(C) TE=g 3aL Afoga § =i g waem o dan & &)

(D) Tarm =9 = o G <m0 =1 5 =afas wi= 1 o S 1

(E) v wiaasa ® S6iE & Ui Hedl &) U S War it Al § a3 deam iy siena | o6
EIGIEA

A= fem mu fasmedl F & wlr 39T =1 = Hifa

(1) == (B), (D) 31 (C)

(2) =@ (A), (B) A (C)

(3) = (A), () #T (D)

(4) e (D) 9% (E)

Options :

212807116029. 1
212807116030. 2
212807116031. 3

212807116032. 4
gcollegedunlas
India’s largest Student Review Platform
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Question Number : 454 Question Id : 21280729009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Consider the statements given below and select the correct statements :
(A} A list of indexes is called a index series
(B) By time reversal test ppy ® pyp=0
(C) If Zpyye=14, Zp,q,=192, Zpyy, =20 and Zpyy, =120 then Fisher's ideal number is 120
(D} In Paashe's index number, current vear quanbities are taken as weights of commoditios
(E) Tt Zp;=120 and Zp; =150 then p,, =135
Ch‘l}['lﬁl-_' H'H.' EUI'I'L'EI.' ASWer f]'l:.l-]Tl ﬂ.'l:ll" {:IFll'i.[:IFI.‘:'- Ei".-'i.}l'l |.'|"I-.'Iﬂ W
(1) (B), (C) and (E} Only
(2) (A) and (C) Only
(3)  (A) (I and (E) Only
(4) (B)and (D) Only
Options :
212807116033. 1
212807116034. 2

212807116035. 3
212807116036. 4

Question Number : 454 Question Id : 21280729009 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

e fau, e o faan =1 aen ot w5 15

(A} TR H1 FH ookl I FEAE E

(B) 7 =gH A H pgg % pyg =0

(C) 4T Ipgu=144, Ep,q, =192, Ep.q, =% 79 Ip,q, =120 @ frer sy dEm 120 Bt
(D) WM HEHS W Fa9E J4 W R S o 97 F 'Y H fom e
(E) =R Spy=120 71 Ep, =150 T py, =125

= feaw o fasedi § 9 WE 39T #9949 S

(1) =haet (B), (C) 3 (E)

(2) = (A) $(C)

(3) A (A), (D) S (E)

(4) == (B) #iR (D)

Options :

212807116033. 1
212807116034. 2
212807116035. 3
212807116036. 4
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Question Number : 455 Question Id : 21280729010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ3

Consider the statement : During a certain period the cost of living index number goes from 110 to

200 and salary of a worker is also raised from ¥ 3,250 to ¥ 5,000.

Based on this information, check which of the fL'II”I:'I'I.-‘r'Zi!I'I:E I:IFLiI:"FTL‘-.i are correct.

(A} Real wage is given by Real wage = Sctital- Mogs * 100
Cost of living index

LEE-

(B) Real wageof? 3,250 =

(C) Keal wage of? H.H[r=%‘ﬂﬂﬂ

(D} Real wage of T 5000=7 2,600

(E) The worker actually loses ¥ 454.50 in real terms
Choose the correct answer from the ophions given below ;
(1)  (A) (B), (C) Only

(2) (B} (D). (E) Only

(3 (A), (O, (E} Only

(4) (<) (D), (E) Only

Options :

212807116037. 1
212807116038. 2
212807116039. 3
212807116040. 4

Question Number : 455 Question Id : 21280729010 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

-

-
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e W faan &t ;v Ffeam aug % 46 SiEe g g 110 8 200 31 96 § 99 UF Tegl #0999
3,250 9 % 5,000 FF =1 ¥ |

T I o A6R R & e § el e T
e

A HAGH =— — % 100
(4) W e HaEF
_ C . 3250
(B) ¥ 3,250 i 7 o=l = 200 <100
(Cy 3250 F g weh =¥Tﬁ?{]x1m

(D) 25000 T T4 il =T 2,600
(E) Wogl %l 9ediah ¥9 H ¥ 454.50 1 TF49H o1
e fon o fasedt § | 5l 39T T 957 A
(1) e (A), (B), (O
(2) aA (B), (D), (E)
(3) ==E (A), (C). (B)
(4) == (C), (D), (E)
Options :
212807116037. 1
212807116038. 2

212807116039. 3
212807116040. 4

Question Number : 456 Question Id : 21280729011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value
Comprehension MCQ3

The straight line trend for the sales of a cosmetc ibkem (in thousands) n a district with an origin
vear 2013 is y=59+13x. The predicted sales of cosmetic items in 2023 is :

(1) 5.9 thousands
(2y  13.0 thousands
(3) 189 thousands

(4) 262.99 thousands

Options :

212807116041. 1
212807116042. 2
212807116043. 3
212807116044. 4

Question Number : 456 Question Id : 21280729011 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : .
[Key Value w coliegedunia:
2/ India’s largest Student Review Platform
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|Comprehension |MCQ3 |
Foreit fot § wamem gt 1 fal (B ©) &1 o) T 3l y =50+ 1.3 %, 2013 g 94 F gy 1,
2023 F fAu wmee 1 amiE o § |

(1) 59 %=1
(2) 13.0 B9
(3) 189 F=R
(4) 26299 TEIR

Options :

212807116041. 1
212807116042. 2
212807116043. 3
212807116044. 4

Question Number : 457 Question Id : 21280729012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
s T _ 17 - 18
With reference to one sample t-Test, the test statistics is given by the expression t=- is then
45

which of the following gives the correct set of order of values x, py Sand n ?
(1) 45, 17, 18, 4.5
(2y 17, 45, 48, 18
(3) 17,18, 4.5, 48
(4) 18, 17, 48, 4.5

Options :

212807116045. 1
212807116046. 2
212807116047. 3
212807116048. 4

Question Number : 457 Question Id : 21280729012 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

s g sy e s 1718 oo ; mew @ :
il (-5t 3 waler o, S WA F b= —— FUVRA R ¥, ST F o B 0 AR

%]}

8l

(1) 4B, 17, 18, 45
(2) 17,45 48, 18
i-\j} ]?| ]H| "L.ar "‘I'F

4) 18,17, 48, 45 :
#) ( gcollegedumas
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Options :

212807116045. 1
212807116046. 2
212807116047. 3
212807116048. 4

Question Number : 458 Question Id : 21280729013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

A student wants to estimate the mean of population tor some sample. The probability is 0.95 that
sample mean will not differ by true mean by more than 50% of standard deviation. (£ jnc = 1.96)
The size of sample taken by student is:

(1y 17
(2y 15
(3) 14
(4) 13
Options :

212807116049. 1
212807116050. 2
212807116051. 3
212807116052. 4

Question Number : 458 Question Id : 21280729013 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

UF 91 §0 Vided 4 Ui ae F1 AEes S Jedl © | Wiy W F Srias Gra & oEE g |
S0% AU S B F WEHT 0.95 2 (2, 40, = 1.96) 219 39 757 T 0029 F1 AR
(1) 17

(2) 15
(3) 14
(4) 13

Options :

212807116049. 1
212807116050. 2
212807116051. 3
212807116052. 4

Question Number : 459 Question Id : 21280729014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

collegedunias
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Mlatch List - T with List - IT.

List = 1 List = 11
(A) A measurable characteristic of a population is called : (Iy Degree of freedom
(B) A collection of objects, events etc, is ; (IT) Population
(C)} A measurable characteristic of sample is called : (I} Parameter
(D}  The number of independent values which have (IV) Statistic

freedom to vary in computing as statistic is called :
Choose the correct answer from the options given below :
(1) (A0, (BRI}, (C-(IV), (D)-(IT)
(2)  (AJ-(I), (B)-{1I), {Ch-(1¥), {D)-{1)
(3) (A, (B)-(1), (CHIV), (D))
(4)  (ANIV), (B)-{II), (O)-(I), (D)-(])

Options :

212807116053. 1
212807116054 2
212807116055. 3
212807116056. 4

Question Number : 459 Question Id : 21280729014 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

Tl | A1 = e i
-1 HEI-11

(A) B = A O FEA = i e O
(B) =g, w2l | HuE ¥ Iy HmiE
(C) wieed = wrfta [m wEem # (TT) wr=e
(D) T - T HE ) wiaeeE o (V) wimey

AR w0 Y e st g ween ¥
A= feu o Taeeedl ¥ § WE 39T F1 999 Fi40 -

(1) (A0, (BRI, (O-(IV). (D)-(I)
(2) (A, (B)-(II), {C)-{IV), (D)-(T)
(3) (A, (B)-{I), (C)IV), (D)-{III)
(4)  (A)-(IV), (B)-(ILI), (C)-(II), (D)-(1)

Options :

212807116053. 1
212807116054 2
212807116055. 3
212807116056. 4

Question Number : 460 Question Id : 21280729015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value
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|Comprehension |MCQ3 |

Raman borrows a sum of € 400,000 with total mterest paid T 200,000 and he 1s payving an EMI of
¥ 12,000 under tlat rate system, then his loan tenure is

(1) 4B months
(2 45 months
(3} 50 months

(4) &0 months

Options :

212807116057. 1
212807116058. 2
212807116059. 3
212807116060. 4

Question Number : 460 Question Id : 21280729015 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

T F 4.00,000 TR =41 & 991 F 2 2,00,000 FF == PRF £ ©1 T T2 2 12,000 F1 0f5= fem =
& ol E0 F owEfy, A R, |

(1) 48 9%

(2) 45 W@

(3) 507w

(4) &0 FE
Options :

212807116057. 1
212807116058. 2
212807116059. 3
212807116060. 4

Question Number : 461 Question Id : 21280729016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

What sum of money should be invested now so as to get 3 7,500 at the beginming of every month
forever, if the money is worth 7.5% per annum compounded monthly ?

(1) % 7.50,000
(2 7 12,00,000
(3) 210,07,500
(4 F12,07.500

Options :

212807116061. 1
212807116062 2
212807116063 3
212807116064 4
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Question Number : 461 Question Id : 21280729016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

7.5% ufaad = = ¥ ufas wwdais = 2 4 fean @ & Faw fn s fr odes om & ey o
FarhTa 7% 7 7,500 F 99 WH @ 7

(1) ¥ 7,50,000

(2) ¥ 12,00,000

(3y ¥ 10,07,500

(4) T 12,07,500

Options :

212807116061. 1
212807116062.2
212807116063 3
212807116064. 4

Question Number : 462 Question Id : 21280729017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
Match List - T with List - I1.
List - 1 List - 11
(A) Price at which bond is sold to investors (I} Redemption
(B)  Amount which bond issuer pays to bayver at matunty  (II) PV, > face value
(C) It discount rate < coupon rate then : (I} Face value
(D} Tt discount rate > coupon rate, then : (IV) P.V. < face value

C!H'l'l.'lﬁi_' H'H.‘ correct answer .I:]'-i.'l-]'l'l 'H'll.'“ -'.'I'Pt'i.l.T['I!'i j:;j'r't'l'l |.'|L'|.|ZZI'|.-'|." .
(1) (A)-(IID), (B)(I), (O)-0), (DRI

(2)  (A)-D, (BRI, (C-(IVY, (D)-(II)

(3) (AL, (B)-(1) (C)-(TV), (D)-(11)

(4) (A)-(D), (BRI, (O-(11), DIV

Options :

212807116065. 1

212807116066. 2

212807116067. 3
212807116068. 4

Question Number : 462 Question Id : 21280729017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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el § g1l # foem $ifa

-1

(A) =% wivm Faw W P = 9 5= 9w #
(B) &% vF ToQ W Az S Siesr 51 viiead w5
(C) =& 2 e<FT FTH A

(D) TR >FH T I,

=i e foeredl © B Ofr 39T 1 =T i
(1) (AT, (B)-(L), (C3-(10, (D-(IV)

(2)  (A)(I) (BR(II), (C-(IV), (IY-(II)

(3) (AL, (B}(I), {O-IV), (D)-(ID

(4)  (AHD, (BRI, (O-(1D0, (DRIV)
s 60651
212807116066. 2

212807116067. 3
212807116068. 4

HEt-11

(I) #EA
(I) P.V.> g g0
(1) #fFRd e

(IVy PV. < 3ifeq g

Question Number : 463 Question Id : 21280729018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3
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Which of the following graph represents the given constraints ¢
x+y=8, x+y=4, x—y=0, y=4, x=0, y=0

¥

(1 N
L
(2)
o
()
", N
™
(4) N
S P
Options :

212807116069. 1
212807116070. 2
212807116071. 3
212807116072. 4

Question Number : 463 Question Id : 21280729018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ3

-

-
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P | i sriv ol =aael & 29 £ 7
x+y=8, x+y=4, x—ys0, ys4, x=0, y=0

M

(1)

(2) \\K/

PN

Py
(3
T 1 J
W
S
(4}
[
g PR
Options :

212807116069. 1
212807116070. 2
212807116071. 3
212807116072. 4

Question Number : 464 Question Id : 21280729019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ3

collegedunias

India’s largest Student Review Platform



Consider the llowing statements regarding LPP :
(A} If R is unbounded, then maximum or minimum of the objective function Z must exist
(BY An LPP can not have more than one optimal solution for the decision variables
[C:l The conditons ¥=0, j.l":’-"'[j are called :1t1r'|-nul.'5ati\r1.' restrictions on the decision variables
(D) Two diferent corner points of the feasible region may give same value when put in the
objective funchion
(E) Tf the feasible region R is bounded then the objective function Z must have some optimal
selution
Choose the correct answer from the options given below :
(1) {A)and (B) Only
(2)  (A) (C) and (I} Only
(3 (C), (D) and (E) Only
(4) (1) and (E) Only
Options :
212807116073. 1
212807116074. 2

212807116075. 3
212807116076. 4

Question Number : 464 Question Id : 21280729019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ3
LPP 4 sala F el o1 faam &1

(A) @fe R wvftas ® 4 =twa wem Z = sfusman o =Fad w23

(By ot LPP & Foim </ & fom v 9 afuss o909 23 =81 8 O )

(C) Tt i =1 & o v =0, =0 0T S0y e 21

(D) Toft [ET &3 F ) 975w e 6y O SR e o ' W e
(Ey =fe R |6 &9 simg ol 3899 e Z = TRaH we |

= fou o famedl § 3 Wl 390 &1 999 Fifae

(1) sl (A) 3 (B)

(2) = (A), (C) S (D)

(3) TS (C), (D) 3R (E)

(4) @ (D) #F (E)

Options :

212807116073. 1
212807116074.2
212807116075. 3
212807116076. 4

Question Number : 465 Question Id : 21280729020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : .
collegedunias
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Key Value
Comprehension MCQ3

It the corner points of the teasible region for an LPP are (6, D), (3, 3], (3. 6) and (0, 4} then minimum
valug of the objechve function z=21r + 3y occurs at :

(1}  {b. 0) Only
(2} {0, 4) Only
(3) the mid point of the line segment joining the points {6, 0} and (4, 0} only

(4) every pointof the line segment joining the points (6, 0) and (4, 0)
Options :
212807116077. 1
212807116078, 2
212807116079. 3
212807116080. 4

Question Number : 465 Question Id : 21280729020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ3

frelt LPP % Hema &r= & F:r1a faeg (s, 0), (5, 5), (3 6) T8 (0, 4) £ & 3299 WeW = =2x+ 3y T T
oH B |

(1) == (6, O
(2) A (0, 4)

(3) (6, 0) T (4, 0) 1 T T oE g o ey
(4) (6, () Teq (4, 0) F HrS A vEEs & A fEgs w

Options :

212807116077. 1
212807116078. 2
212807116079. 3
212807116080. 4

Sub-Section Number : 2
Sub-Section Id : 2128072110
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 466 Question Id : 21280729021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2

Itis 9 o'clock n the morming, The travel agent informed Sheetal that she will reach her destinabion
after 400 hours of travel. At what time of the day she reaches her destination ?

(1) 5PM
(2) 1PM
(3) 1AM
(4) 5AM

Options : .
212807116081. 1 collegedunlas
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212807116082. 2
212807116083. 3
212807116084. 4

Question Number : 466 Question Id : 21280729021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

A TFE F 0 T4 B | T94 Usi2 3 wige F19am T 400 935 =5 g F 10 o avem 91 e fem e
T TE= ANl | 9 T IHE AR T0H T OE=

(1y 5PM
(2y 1PM
(3 1AM
(4y = AM
Options :

212807116081. 1
212807116082. 2
212807116083. 3
212807116084. 4

Question Number : 467 Question Id : 21280729022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2
¥ 5%

The slope of the function f(z) - = t 7 6x + 12 s maxinoum at x= _ .
(y 6
(2) 1

3
(3 3
(4) -2
Options :

212807116085. 1
212807116086. 2
212807116087. 3
212807116088. 4

Question Number : 467 Question Id : 21280729022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

% collegedunias
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3 =2 - :

it flx) = '1—-|£ Bx <+ 12 i TF0E F SAwan O # T
3 2 = — —

(1) o

(2) 1

2

(3 3

4y -2

Options :

212807116085. 1
212807116086. 2
212807116087. 3
212807116088. 4

Question Number : 468 Question Id : 21280729023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Which ot the tollowing 15 not an adequacy test of index Numbers 7
(1)  Unit test
(2) Time Reversal test
(3) Factor Reversal tost
(4) Series test
Options :
212807116089. 1
212807116090. 2

212807116091. 3
212807116092. 4

Question Number : 468 Question Id : 21280729023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

H T F5 I+ &+ I7F A T8 8 7
(1) T =
(2) A =ERE Y
(3) TUFEE SERTT E
5 AN
(4) ol ==
Options :
212807116089. 1
212807116090. 2

212807116091. 3
212807116092. 4

Question Number : 469 Question Id : 21280729024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 - COI legEd un ia,E

India’s largest Student Review Platform




Question Key Details :

Key

Value

Comprehension

Comp2

The three year moving average of the production given by the table.

Year 20010 | 2011 | 2012

2013

2004 | 2015

Production| 98 g5 103

109

HE

110

i.H- ].'."'d.“'i-t drt:-und |'.111.: ].'rur ]
(1) 2012
(2) 2014

(3) 2011
(4) 2013
Options :

212807116093. 1
212807116094. 2
212807116095. 3
212807116096. 4

Question Number : 469 Question Id : 21280729024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

feet 379 F 1 9913 99 dwe 5 T afas | famr m §

a4 | 2010 | 2011 | 2002

2013

2014

20115

FqET | 98 43 103

109

88

110

% Torm anaw a4 | 599 e #
(1) 2012
(2) 2014
(3) 2011

(4) 2013
Options :
212807116093. 1
212807116094. 2
212807116095. 3
212807116096. 4

Question Number : 470 Question Id : 21280729025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

Comp2

-

-

collegedunias

India’s largest Student Review Platform



If A is the amount of obligation, r is the rate of interest per payment period and § = ﬁrll_l.’] . then the

amount of each payment can be calculabed using which of the following formulae, where n is the
number of payments 7

M R=|
@ k=
@ R=|
(4y R=
Optons:

212807116097. 1
212807116098. 2
212807116099. 3
212807116100. 4

(1+9)" —1
i
A
)" 1
A
LR =1
1+ ™ +1)

i

®

A

Question Number : 470 Question Id : 21280729025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

afe A wfFEd 29 9=, c vl sEfu e W = i%ﬁﬁrﬂﬁﬁﬁfﬁﬁﬂfttfwﬁﬁﬁﬁmﬂﬁmﬁm

o WA &, TR n YA i e 7

[1y R=
3y k=
@ RS
(4) R=
.

212807116097. 1
212807116098. 2
212807116099. 3
212807116100. 4

(1 +a" -1
| i i
AR
| (L0 +1 |
AKX
(140" =1
-[1 + r':l'li 41'

i

A

~

-
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